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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

1.  The Primary motivation in tourism is :
(A) Participating in business (B) Medical treatment
(C) Recreation and pleasure (D) Meeting People
2. Identify the correct match :
(a) Intra regional tourism (i) Movement of tourist from one country
to another
(b) Inter regional tourism (i) Movement of tourists within a country
(c) Domestic tourism (iii) Movement of tourists within a region
(d) International tourism (iv) Movement of tourists from one region to
another
Code :
(@ (b) (o) (d)
(A) @) @@ @) (@(v)
(B) (i) (v) () (D)
© @ (@@ @) (@)
(D) @) (v) (i) @)

PATA Stands for :

(A) Pacific Area Travel Association

(B) Pan American Travel Association
(C) Pacific Asia Travel Association

(D) Pacific Association of Travel Agents

Read the following paragraph and answer the question 4 and 5 based on it

Concerns about the serious negative consequences associated with tourism
have encouraged the exploration of better ways to manage mass tourism and tourism
development. Proponents of alternative tourism (some times called responsible or
green tourism) argue that tourism should be conducted on a smaller scale in terms
of the number of tourists and the dimensions of tourism development. Alternative
tourism proposes more respect for the resources the local people and the environment.
This respect should be evident in the design and nature of the attractions and in the
attitude and behaviors of the residents and tourists.

The reconciliation of the environment and tourism begins with the local
community. Tourists will have little reason to respect the environmental resources
of a community if the community itself does not respect these valuable resources.
Alternative tourism is proposed as a way to soften the impact of travel on social
cultural and environmental resources. It provides a means to maintain a long - term
flow of tourism without the down-ward spiral of degradation, community
resentment, and eventual loss of business.

J—9306 2
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4.  Alternative tourism developed because of :

(A) Serious negative consequence of mass tourism

(B) respect for resources and environment in this form of tourism
(C) Benefits of conducting tourism on a smaller scale
(D) All of the above

5.  Contribution of local community in alternate tourism is critical :
(i)  Alternate tourism begins with local community
(ii) Tourists will not respect environment if locals do not
(iii) Locals show their disliking as community resentment
(iv) Attitudes and behaviour of residents as tourists are equally important
Code :
(A) All are true

(B) (i) and (ii) are true, (iii) and (iv) are false
(C) (iii) and (iv) are true (i) and (ii) are false
(D) (i) and (iv) are true (iii) and (ii) are false
6. “Bir” in Kangra valley is ‘famous for” :
(A) Aero sports (B) Water sports
(C) Trekking (D) Wild life tourism

7.  ‘Auli’ is famous for :
(A) Templeb (B) Handi crafts
(C) Skiing (D) Water sports

8.  Match the following :

(@) ‘Guru Granth Sahib (i) Budhism
(b) Bhikshus and Upaskas (i) Jainism
(c) Digambaras and Swetambaras  (iii) Sikhism
(d) Bhakti movement (iv) Sufism
Code:

(@ (b) (o) (d)
(A) @) @) @) @Gv)
(B) @) @ (3 )
(© @) (@) @) @)
(D) Gv) (@) @) @)
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9.  Name the kind flowers that were used as motifs in Taj Mahal :
(A) Marigold, Rose and lily

(B) Narcissus, Rose and Tulips
(C) Hibiscus, Jasmine and Rose
(D) Tulips, Marigold and Jasmine
10. Assestion (A) : Budhism declined in India for a number of reasons
Reason (R) : The prominent factor was acceptance of idol worship by a segment of
Budhists.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true
11. Which of the following is not a type of Hotel ?
(A) International hotel (B) Commercial hotel
(C) Residential hotel (D) Motel

12.  Which of the following is bed and break fast plan ?
(A) American Plan (B) Modified American Plan
(C) European Plan (D) Continental Plan

13. Identify the hotel with ECOTEL certification in India.
(A) Maurya Sheraton , Delhi  (B) Tulip hotel, Mumbai

(C) Orchid hotel, Mumbai (D) Taj Mahal Intercontinental, Mumbai

14. Match the following :

(a) Ala carte (i) Fixed item on the menu
(b) Table d” hot (i) Options for selecting items are given on the menu
(c) Buffet (iii) Limited menu items are provided
(d) Fast food (iv) Variety menu options are displayed
Code :
(@ (b) (o) (d)
(A) @) @) @) @Gv)
(B) @) @@ (v) ()
(© @) @Gv) G @
(D) Gv) () () ()
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15.

16.

17.

18.

19.

20.

21.

22.

Maitre d” hotel works in :
(A) House keeping (B) Front office
(C) Restaurant (D) kitchen

Which state has the maximum use of internal water transport ?
(A) Jammu and Kashmir (B) West Bengal
(©) Goa (D) Kerala

Name the company which started No-frill airtravel in India
(A) Spice jet (B) Kingfisher airlines

(C) Sahara airlines (D) Deccan airlines

Air travel in India is regulated by :

(A) Airport Authority of India

(B) Director General of Civil Aviation
(C) India Tourism Development Corporation
(D) Internation Air Transport Association

Identify the correct route of palace on wheels :
(A) Agra, Jaipur, Udaipur (B) Jaipur, Agra, Udaipur
(C) Udaipur, Agra, Jaipur (D) Agra, Jaipur, Ahmedabad

Number of railway zones in India :

(A) 9 (B) 12 (C) 16 (D) 24

SODA Stands for :
(A) Eastern Airlines Computer System

(B) American Airline Computer System
(C) South American Airline computer system
(D) None of these

Tug is associated with :
(A) Airlines (B) Tour operation
(C) Cruise (D) None of these

J—9306 8



15.

16.

17.

18.

19.

20.

21.

22.
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23.

24.

25.

Answer the questions 23,24 and 25 based on this paragraph.

The fine art and business skill of developing the inclusive group tour can be
credited to Thamas cook of England. While others may have used the concept earlier,
cook made the group tour a true business venture that appealed to the public. Asan
active member of the Temperance society, he put together the first group trip by
train in the July 1841. He arranged a trip by rail of nearly 600 people to a large
temperance meeting-at a reduced rate. Cook knew that the newer trains could
carry many passangers-and needed to fill their seats to remain profitable cook
negotiated prices with rail owners. Cook’s sucess rested in his ability to understand
the travel possibilities of his time. He saw the need, the desire, and the motivation
for travel -and capitalized on all three through his tours. Cook made travel possible
for people with limited opportunities to travel. The person of modest means could
take a short trip to a nearby attraction or a destination. At first, the arrival of tourists
was a noteworthy event for the host communities. Most communities were
unaccustomed to the arrival of so many new people all at once. Cook also introduced
the concepts of circular tickets coupons circular notes. His tours between 1850 and
1900 land marked the true age of travel for the masses.

Identify the correct option :
A) Cook is credited with developing inclusive tour

B

~—"

Cook made the group tour a business venture

C) First group tour was arranged by train

(
(
(
(

o

) All the above

Cook used the following stimulants of travel :
(A) Need, Want, Satisfaction
(B
(
(

Need, Desire, Motivation

~—"

C) Need, Economy, Demand

)

) Want, Services, Motivation

The following demensions of behaviour were open as a result of Cook’s efforts :
(A) First group trip was in 1841

(B) Fares were negotiated with rail owners to fill seats.
(C) People with limited opportunities wanted to travel
(

D) Circular tickets, circular notes and coupons were introduced
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23.

24.

25.
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26. Identify the correct sequence :

(A) Marketing approach, Societial approach, selling approach, product approach,
production approach,

(B) Production approach, Product approach, Selling approach, Marketing approach
Societial approach

(C) Societial approach, Selling approach, Product approach, production approach,
Marketing approach

(D) Selling approach, Product approach, Marketing approach, Societial approach,
Production approach.

27. Match the following visitors segments :

(a) Explorers (i)  Plan their timeraries and may use travel agnets
(b) Drifters (i) Need new experiences
(c) Allocentric (iii) Do not desire change while travelling
(d) Psychocentric (iv) Back packer group
Code :
@@ (b) (9 (d)
@) O (v @) (i)
B i) @) () 0
© (v ) @) 0
D) () O ) (i)

28. Assertion (A) : Market skimming is a premium pricing strategy used at introduction
stage of product life cycle.

Reasoning (R) : Market skimming can be used if buyers are not price sensitive and
cost of small volume production is low.

(A) Both (A) and (R) are true.
(B) Bothe (A) and (R) are true, but (R) is not the correct explantion.
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

29. Psychographic Segmentation is based on :

(A) Behaviour of tourists

(B) Life style of tourists
(C) Tourists attitudes, interests and opinions
(D) Group behaviour of tourists

J—9306 12



26.

27.

28.

29.

eI STIHH o
(A) Tauum gfeenior, TSR gfvenivl, faskarae gfsion, Serg gfveni, Scare gfshn
(B) 3cdreA gf¥enivl, Icure gfishror, fasharawer gfishro, foraom gfienior, wmifser gfishron
(C) wrHIfSIeR gfienivl, fosharater gfvenil, Scarg gfishior, Scare gfishion, fauom gfishro
(D) fosrarawr gfeenivl, 3care gfihron, faqum gfentor, TS gfishron, Seare gfishrn
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30.

31.

32.

33.

34.

35.

Procduct positioning is :

(A) Products image in marketer’s mind

(B) Products image in middlemen’s mind
(C) Products image in competitor’s mind
(D) Product image in consumer’s mind

The latest National Tourism Policy was announced in :
(A) 2004 (B) 2003 (C) 2002 (D) 2001

Consumer Protection Act 1986 gives relief to the tourist through :

(A) District Councils

(B) State Councils and National Councils
(C) Arbitration
(D) (A) and (B) both

Assertion (A) : Tourism development in Third World favours mass tourism

Reasoning (R) : Third world needs benefits of tourism but delivery of certain comunities
may be beyond its ability.

(A) Both (A) and (R) are true
(B) Both (A) and (R) are true but (R) is not the correct explanation
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

Project feasibility study evaluates
(A) Technical feasibility

(B) Economic and Social feasibility
(C) Technical and Economical feasibility
(D) (A) and (B) both

Tourism leakage is” :

(A) Paying for imported goods that are used for the service delivery of travelling
public.

(B) Economic disparagement
(C) Gap between imports and exports

(D) Taxes collected through tourism
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30.

31.

32.

33.

34.

35.

Trege qfsf 1 Heiy ¥ 7

(A) 3R I ISR H &M a1el & 79 § 3carg o sfa
(B) foeiiferai & W= # 3 &1 =fa

(C) wfeafdfsti & 79 # 3 =i B

(D) STuiEmsti o A9 H 3cuTe i S

SaH TP e Hifq i Ewon g9 | &l TR
(A) 2004 (B) 2003 (C) 2002 (D) 2001

YT eI AT 1986 H wewi ® % B T&d & T B
(A)  Torer i

(B) T URWST qen U8 aRwal

(C) e

(D) (A) 3 (B) <

TEHRAT (A) :  qag fova | TefeA-faswma a2 TuH W Tied &1 gHeH e ¥

T (R) : Tt forva e o Rl ot 9% W § olfeh 3o WE iasmd Gezan w
% ML | e & Hohdl T |

A) (A) TN (R) SHI &l 1

B) (A) Tl (R) THi T2 § Ak (R) Tl =amen 721 2|

~—"

(
(
(
(

Q) (A) T& &, Afd (R) T B

D) (A) 7T €, AfhA (R) T2

RS SRR e T AR HE T

(A) Teheh! HTRTAI (B) ST Q2 WMo SHeRrIal

(C) Tehetehl qem eTIfeieh et (D) (A) 3R (B) M

s TRl ©

(A) A I e < o FAT T Srfad il o T sras e
(B)  3TIfeieh S|

(C) 3T aen Fafa < o= &l g4

(D) WIS §N HHE MY H
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36.

37.

38.

39.

40.

Identify the correct sequence of research process :

(A) Identify problem, Establish objectives, develop research proposal and budget,
pretest research instruments, develop plan for analysis, select sample, collect data,
analyse data, Report results.

(B) Establish objectives, develop research proposal and budget, pretest research
instruments, develop plan for analysis, select sample, collect data, analyse data,
Report results

(C) Develop research proposal and budget, pretest research instruments, develop plan
for analysis, select sample, collect data, analyse data, Report results.

(D) Identify problem, Develop research proposal and budget, pretest research
instruments, develop plan for analysis, select sample, collect data, Report results.

Two dice are thrown and sums of the numbers on the faces up are obtained. The
probability of this sum being 2 is :

(A) 1/6 (B) 1/36 (©) 1/18 (D) None of these

Garbage survey is :
(A) Telephone survey
(B) Main bag survey

(C) Indirect observation technique used to monitor consumer preference for menu
items in the restaurant

(D) Time and motion direct observaton technique.

Assertion (A) : The data collected for a research study will be accurate even if sample
is not representative

Reason (R) : None of the sampling technique can provide perfect sample
(A) Both (A) are (R) true

(B) Both (A) and (R) true but (R) is not the correct explanation

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Checking on interviewers if they are following prescribed sampling plan is an example
of :

(A) Direct Observation (B) De-briefing
(C©)  Quality control (D) Primary research
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36.

37.

38.

39.

40.

INE-UTHAT T TE STTHH T

(A) TUEI I YgAM, IOV~ I YA qA1 S T v, SiE-qd W W
Ul forveiwor g Ao o1 o, Sqa o1 5o, Siihel GE, WY -uiom
BIRCEE|

(B) SERYA-TATHI, TN TS T oI5 ol A0, Si=-d Jgaa Inel SYhvT, ferereraur &g
ZrerT o1 fmior, HYS T =, Skl GiE, Aihe i faveiou | vy -afRoms o1 gfdaeH

(C) I TS qe Sl 1 v, Si9-Ud e e Suehl, fawrersor & ferg 2 &
fmior, et o1 =19, Siiehel R, el w1 faversv, wie-gfomy &t gfaeed

(D) TEET Y YgaH, TE YATE AT SIste i i, Siw-qe we Sie Suehv, faversr &g
et o1 Tmtor, Sqet ot =, Sfiehel GE, Y- 1 gfdeed

2 I ek A & ST 991 SH1 o HI T TR i HEARd o SISl a1 g | 39 SIS o 2 B hi
foRat Ty ©

(A) 1/6 (B) 1/36 (C) 1/18 (D) TTH § &5 Tl

Tl TAHETT ®

(A) fTwE T

(B) W - S Helaym

(C) oA ol -Gt | < TE Wl | Helferd SUBIST i S hl Wi e hieTT TIb
Y& TR hl Teh qhATh

(D) ‘IrH WUE HINH' Y& STcilch dehileh

TEHRAT (A):  Ifc Sga yfafafen 78 off & 9@ o Wiy st o faw westa fan e
3fieher Ifgrs BN |

T (R) : g oft Fafein qeer quid: Jfexfeq A Sucre el 3 Hehell |

(A) (A) T (R) < Tt €

(B) (A) T (R) S W&l € wfeh (R) TEl =ame =it §

Q) (A) T& E, afer (R) o ©

(D) (A) 7o T, Afeh (R) T2 &

eI R hatel i 39 91 & fore St s T 3 iy Guafan Qe o ogmo @ § =
THAC_ U SR R
(A) TIY faaed (B) e fafthn (C) e = (D) wefdes Wy
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41.

42,

43.

44.

45.

Assertion (A) : Delegation is transfer of superiors authority to the subordinates.

Reasoning (R) : There must be parity of authority and responsibility for effective
delegation.

(A) Both (A) and (R) true

(B) Both (A) and (R) true but (R) is not the correct explanation.
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Match the following :

(a) Recurring decision making (i)  Best decision
(b) Optimum decision making (ii) Acceptable decision
(c) Satistying decision making (iii) Routine decisions
(d) Preferential decision making (iv) Selective decisions
Code :

@ ® © (@
@A) (O G @) )
B (i) @) ) 0
© () (v @) @
D) @) () @) @)
Innovation is :
(A) Invention (B) Change
(C) New uses (D) All the above

Identify the correct sequence :

(A) Conceive message, Encode, Select channel, Decode, Interpret, Feed back

(B) Delete, Interpret, Feed back, Conceive message, Encode, Select channel,
(C) Interpret, Decode, Conceive message, Encode Feed back, Select Channel
(D) Decode, Conceive message, Encode, Select Channel, Interpret, Feed back,

Which of the following is a bottom up approach to management ?
(A) Management by objectives

(B) Management by exception

(©) Management by walking around

(D)

Management by culture
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41. TSR (A): TAEISH, ARG RITET & IHR 1 Tefiedl ol FiaRo 7|
T (R) : JHTEasiel GmiSH o forg STfeehR qen S st FHgeddr Bl =feu |

(A)
(B)
(©
(D)

(A) T (R) ST Tt 1

(A) T (R) SHI TEI € wfeh (R) el =ame =Tt § |
(A) TE ¥, AfhA (R) T S

(A) eI, SfhA (R) Tt 1

42, TrAfafEa =1 gafaa &L

(A)
(B)
(C
(

)
D)

g

N N N~
X >
\_/v

43. ergedd o A9 T

IRER o o () GarE

STFadd o o (i) e o

Hafbucres o o (iii) Ter o

@@ (b) (o (d)

@) @) () o (iv)

i) (i) (@v) (@)

() (v) (i) ()

(i) (i) (@) (iv)

Sfa=RR (B) WRad  (C) -&IF 3TN (D) 3T § |t

44. 9 THY AW :

(A)

(D)

TG FHfcqd ], Tehifed hidl, TOR AEY &1 99H, fehifeq o, A &,
s

721 a1 fHer <, SRS A, hieddh, GaIg URehiedd ohidl, Sehifed shidl, Yar HIeqH i
=94

e w1, Teaifed &, Harg uRehfeud s, Senifed o], TOR HILqd &1 =9

femifea =1, Harg uferfeqd a1, GOR HA1eaY o1 =994, SR higss

45, frefafea § 9 SF 91 T TR T 2 P §

(A)
(©
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46. Dividend yield is :

Last years dividend

(A) " Tast years market price of share

Currentdividend

(B) " Current market price of share

Current Investment
(©) " Current market price of share
Current asset
(D)

Current market price of share

47. Risk-return trade off is:
(A) Trade off between risk and return
(B) Trade off between long and short term financing
(C) Choice between long and short term financing and trade off between risk and
return

(D) A kind of quality control

48. Accounting rate of return in capital budgeting is:

Average income

(A) Average investment

Average revenues

(B) Average investment

Average income
(© Average expenditure
Total income
(D) Total expenditure
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46. A YfdHA ® :

47. SifEm - g ArEee foRd et S €
(A) S a1 GATH o st drse
(B) < e STcushifcieh foraaidol < St TS
(C) < qen STeuehifersh faraure T & i< gATE e S qeim GATH
(D) T[oTera A0 % Tk TR

48. Hfyeadt sifén | HATh Y <X 1 e o § 2

a3
R

B st fraw
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49. Capital structure is

B

(
(
(C
(

D

~—"

A)

)
)

Inter relationship between different sources of financing
Inter relationship between long term sources of financing
Inter relationship between long and short term financing

Inter relationship between mid term and short term financing

50. Assertion (A) : Food cover report throws light on sales components departmentally

and average selling price of each component.

Reasoning (R) : Food cover report should be maintained periodically and department

J—9306

wise.
Both (A) and (R) are true
(A) is true, but (R) is false
Both (A) and (R) are true and (R) is not the correct explantion
(A) is false but (R) is ture
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49. Hfed TR R
(A)  Torqamr & fafys Sl o o= siqewry
(B) famdmem & feufafie @il o = sfadmry
(C) < qe STeuratyes fammio & o= siqewry
(D) WEATEYe a1 Aearaiyesh foqamo o s saamsrg

50. TEHAT (A): THES HioR U fAYFTER WH-TM & Wl i foshl T I A & fasha-
e T YHTT A T |

T (R) : e i RUE 1 F1aa T9F T qe fareaR TR i & =feu |
(A) (A) T (R) S T )

(B) (A) W ¥, afr (R) Terd T

(C) (A) T (R) I WEl & ifehd (R) TEI = T2l |

(D) (A) & &, AR (R) Tt 2|

-00o0-
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